YHUBEP3UTET Y HUIIY
DPUI030®CKU ®PAKYJITET

JIENAPTMAH 3A AHIJIMCTUKY

HIU®PA:

(nonyraea komucuja)

bPOJ IIOEHA:

(nonymasa komucuja)

KIACUOUKAIIUMOHU UCIINT

JVH 2020.
BPEME MU3PAJIE: 120 MUHYTA, MAKCUMAJIAH BPOJ ITOEHA: 60

YIIYTCTBA 3A KAHJUJIATE

Ha 3Hak rmaBHOr AEXKYpHOT M3BaAMTE LieAyJby (MAECHTU(UKALMOHY KapTHIly) KOja ce Hala3u y KOBEPTH,
TIOIYHUTE j€ TPaKeHUM JIMYHUM T0JJalluMa, BPaTUTE LelyJby Y KOBEPTY U 00aBE3HO 3aJICITUTE KOBEPTY.
BAXKHO!!!

HA CAMOJ KOBEPTH HE CMETE HULITA IMUCATHU. HA HCIIUTHOM TECTY U MAPTUHAMA HE
CMETE HAIIUCATHU HU CBOJE UME, HUTHU HEKY IIN®PY, HUTU BUJIO KAKBE JIPYTE O3HAKE.
HUCIIMTHU TECTOBH KOJH BYJAY HA BHJIO KOJU HAYMH O3HAYEHHM BHURE OJMAX
ANCKBAJIMOPUKOBAHH, BE3 ITPETJIEJABA.

Hcnmtan TecToBu O6uhe mudpupann HAKOH IITO CBY KaHANWIATH HAITyCTE MECTO IOJIarama UCIINTA.
YKOJIMKO TO HUCTE Beh yuMHMIN, CBOje JIMYHE CTBapH (TopOe, (haciuKiie, jakHe...) OJI0KUTE Ha KaTepy WIIH
yuBuiIyk. He 3a0opaBuTe na MCK/bYYHMTe M OMJIOKHTEe MOOMJIHe TededoHe Kao M OMI0 Koje Apyre
eJleKTpoHcKe ypehaje, Koju He cMejy cTajaTh Ha KiynaMma, HUTH ucnol lbux. Ha kiynama mory na Oyay
caMo HMCIHUTHH TECTOBH U OJIOBKE, COK MJIM BOJIA, KA0 U JIMYHA KapTa/Macoll ¥ MOTBPAa O IpHjeMy JOKyMeHaTa
(muctuh ca meyaToM U YIUCaHUM TPUjEMHUAM OpojeM).
ITonecure cBoj YaCOBHUK TaKo /1a C€ BpEMe CIaXe ca OHMM Ha YaCOBHMKY AeXypHHUX. VI3pana 3agataka He cMe
na tpaje ay:xke oa 120 muHyTa. YKOJIMKO TECT 3aBpIIUTE IIPE HCTEKAa OBOT POKA, MOXKETE J1a HAIlyCTUTE
ampuTeaTap / yanoHHUILy. Y TOM CIlly4ajy, OKpEHUTE TECT Ha JIMIE U OCTABUTE Ir'a HA KJIYIH.
3a u3paay 3ajaTaka MopaTe /1a KOpUCTUTE IJIaBy XeMujcKy 010BKY. Hujenan oarosop Hanucad rpapuTHOM
0JIOBKOM HJIH 0JIOBKOM Y 00jH Koja Huje miiaBa Hehe 0MTH nmpu3HAaT! AKO HEMaTe IJIaBy XEMH)CKY OJIOBKY,
MOTPAXKHUTE j€ O] ICKYPHHUX.
OxpeHuTe Apyry CTpaHHUIly TecTa TeK Kaja JesKypHHU o0jaBe 1a MOYMH-e 3BAaHUYHO BpeMe U3paje TecTa.
VY npBom neny tecra (PART A) CAMO 3AOKPYXKUTE jenan on nonyhenux onropopa — HE TPEBA
YINHCHBATH pellierhba U Yy TEKCT WM peYyeHMILy.
VY npyrom neny tecta (PART B) TPEBA ynucuBaTH peliema y TEKCT WU peYeHULy.
MHAXK/BUBO MMPOUYUTAJTE YIIYTCTBA nara Ha MOYETKy CBakor OJ BexxkOama, M MPEe HEero MTO Ce
OJITYYHTE 32 jeIHO O] MOoHyheHHX pemiewma, win ynumere cBoje pememne — [HAJKIbBUBO MPOUYUTAJTE
HEJH TEKCT WM PEHEHHUIY U 1OBPO PASMUCJIUTE.
VYxonnko cte Beh 3a0KpYXWIM WM YIHCAIN JEHO pPelleHe, 1A Ce NPEIOMUCIUTE M JKEeIUTE J1a 320KPYXKUTE
WIN yNIHUIIeTe HEKQ JPYro peleme, To Mopa out ypaheHo Tako Jja ce HeABOCMMCIIEHQ BHIIL KOj€ peIIeHhe
Baxxu. Ha anMep,% d, WM yak, yKOJUKO c€ MOHOBO NPEJOMUCIIUTE, Nﬁ bh@ VYnorpeba
KOPEKTOpa 3a XeMHJCKY OJIOBKY HHUj€ 03BOJHEHA.
MormMo oOpatuTe naxkmy fa Ha Ttecty Tpeba gaBatu CAMO JEJHY Baxehy Bep3ujy omrosopa — Hehie ce
IIPU3HABATH OJTOBOPH Ca BHUINIE OCTABJFEHUX alITEpHATHBHUX pemema! Baxehe pememe MoxkeTe 1a 0O3HaUHTE
U CTPEIIUIIOM TOPE/] KOje MHIIIC ,,0BO BAKH .
OxroBopu Koju y cebu caapxke OWIO KakBy rpeiiky y mucamy peun (spelling), xoju mucy y ckmamy ca
rpaMaTHYKUM TIPABIJIMMA EHIJIECKOT je3WKa M / WM Ce CMHCAOHO He YKJIAINajy y JaTH KOHTEeKCT Hehe Outh
IIPU3HATH — 3aTO IPOBEPUTE J1a JIU CYy Ballla pellieha UCIICcaHa Ta4Ho, jacHo 1 YU TKO.
Tect nma ykynHo 8 cTpaHa — oOpaTute Naxmy 1a HEKY 01 CTpaHa rPEIIkoM He IpecKouunTe!
Y TOKY U3PAJE TECTA HUKAKBA KOMYHUKAIIMJA KAHIUJATA CA BHUJIO KUM HA
BNJIO KOJU HAYUH HERE BUTHU TOJIEPUCAHA. U cim nokymiaj npenucuBama HJIM ynoTpede
ejeKTpoHckuX ypehaja om0 koje Bpcre kazuuhe ce TPEHYTHUM YJIAJBEILEM CA UCIIUTA U
JUCKBAJINOUKALINJOM.
Toxom m3paze Tecta, He MOKeTe TPAKUTH MOMOh nin objammkema o1 fexXypHuX. CBe IITO KETUTe Aa MUTATE
MopaTe IMUTATH MPe HeTO IITO ce 00jaBH MOYETAK U3PaJe TECTa U MIPe HETO BUANTE CAM TECT.
OBux yIyTcTaBa, Kao 1 YIIyTCTaBa 3a pellaBame CBaKOT BexkOama Tpeda ce JOCIOBHO MPHAPIKAaBATH.

GOOD LUCK!




PART A- MULTIPLE CHOICE TASKS

I For each numbered gap choose ONE of the four offered answers to make the sentence
grammatically correct and logical. JUST CIRCLE A, B, C or D. Do NOT fill in the
numbered gaps. The first one (0) is done for you. 20 x 1 point = 20 points

Stealing from the rich to give to (0) ___ poor, Robin Hood and his Merry Men are a permanent
part of popular culture. Set in England during the (1) __ King Richard the Lionheart, the
adventures of Robin Hood follow the noble thief as he woos the beautiful Maid Marian and thwarts
the evil Sheriff of Nottingham. The story (2) _ around for centuries, but its most familiar
elements are also the most recent additions.

In 19th-century England numerous scholars (3) __ a search for Robin Hood after the publication
of Sir Walter Scott’s Ivanhoe in 1820. Set in 1194, Scott’s novel takes place in England during the
Crusades. One of the featured characters is Locksley, who is revealed (4) __ Robin Hood, the
“King of Outlaws, and Prince of good fellows.” Scott portrayed Robin as an honorable Englishman
loyal to the absent King Richard; this popular characterization renewed modern interest in the
figure of Robin Hood and made researchers wonder if this “King of Outlaws” was based on a real
person.

Historian and archivist Joseph Hunter discovered that many different Robin Hoods dotted the
history of (5) __ England, often with variant spellings. For example, he found that in 1262, (6)
____England, there is a mention of a man called William Robehod in Berkshire. The previous year
there had been a reference to “William, son of Robert le Fevere member of a band of outlaws”.
The former and the (7) ___ to be the same person. Because Hunter and other 19th-century
historians discovered many additional records attached to the name Robin Hood, most scholars
came to agree that there was probably no single person in the historical record who inspired the
popular stories. (8) ___, the name seems (9) ___ atypical alias used by outlaws in various periods
and locations across England.

When the written (10) __ failed to yield a definitive personage behind (11) __ noble outlaw,
scholars (12) __ the popular culture of England: folklore, poetry, and ballads. These three formats
all (13) _ an oral tradition. Some theorize that they originally (14)  troubadours’ songs that
reported news and events.

The first known reference in English verse to Robin Hood is found in The Vision of Piers
Plowman, written by William Langland in the second part of the 14th century (shortly before
Geoffrey Chaucer wrote The Canterbury Tales). In Langland’s work a poorly educated parson
repents and confesses that he is ignorant of Latin, but that he does know the rhymes of Robin
Hood. Putting Robin Hood’s name in an uneducated character’s mouth demonstrates that the
legend (15) _ well known to most commoners, (16) __ they could read or write.

In the Elizabethan era Robin Hood became a popular presence in plays staged for the upper classes.
Several (17) ___ him in their works. Most notable was Anthony Munday, who wrote two plays
centered around Robin Hood. Munday reinvented the outlaw as an aristocrat Robert, Earl of
Huntington, whose uncle disinherits him. Robert flees to the forest where he becomes Robin Hood.
There he meets Maid Marian, and the two fall in love. (18) __ ordinary peasant; he (19)
gentrified for new audiences.

In the early 20th century Robin Hood migrated from the page to the cinema, and the tale was
reinvented and retold time and again. In each version, glimmers of the original ballads and poems
remain visible as each new version adds more to the legend of the Prince of (20) .



0. [A)a C) an
éthe D) o
1. | A) rainof C) reign of
B) rein of D) rein by
2. |A)is C) has been
B) was D) had been
3. | A) embarked on C) lounched
B) conduced D) begun
4. | A) tobe C) towas
B) to has been D) to had been
5. | A) Middle-Aged C) Middle Age's
B) medevil D) medieval
6. | A) insouthern C) on southern
B) in south of D) on south of
7. | A) letter are believed C) latter are believed
B) letter are beleived D) latter are beleived
8. | A) Notwithstanding C) Instead
B) Disregarding D) Irrespective
9. | A) tobecome C) to became
B) to have become D) to had become
10. | A) historic records C) historic recordings
B) historical records D) historical recordings
11. |A) a C) an
B) the D ¢
12. | A) then came by C) then looked in on
B) than came by D) then turned to
13. | A) boiled down on C) put up with
B) grew out of D looked up on
14. | A) stemmed out of C) derived from
B) raised from D) deduced from
15. | A) would have been C) will have been
B) can't have been D) can have not been
16. | A) irrespective whether C) regardless of weather
B) irrespective of weather D) regardless of whether
17. | A) playwrites featured C) playwrites spotlighted
B) playwrights featured D) playwrights spotlitt
18. | A) Robin Hood wasn't no longer an C) No longer Robin Hood was a
B) Robin Hood was no longer a D) No longer was Robin Hood an
19. | A) had been C) has been being
B) has been D) ought to has been
20. | A) Thiefs C) Thiefes
B) Thieves D) Thievs

THE TEST IS CONTINUED ON PAGE 4




Il For each numbered gap or a set of gaps choose ONE of the four offered answers to
make the sentence both grammatically correct and logical. Do NOT fill in the gaps. Just
CIRCLE A, B, C or D. The sign & offered as an option in some sentences means that
no word or word group is missing.

The first one (0) is done for you. 10 x 1 point = 10 points
(0) We our next door neighbour lately.
A) didn’t see 1©haven 't seen
B) saw D) aren’t seeing
1. She the books a week ago, and the order online since!

A) has ordered / hasn’t stopped following C) ordered / hasn’t stopped following

B) has ordered / didn’t stop to follow D) ordered / didn’t stop following
2. We were in school that our sun would become a red giant in about time.
A) thought / five billion years C) thought / five billions years
B) thaught / five billion year’s D) taught / five billion years’
3. Yoho National Park in British Columbia, Canada, takes pride keeping
Emerald Lake, the largest of Yoho’s lakes and ponds, the park's premier tourist attraction.
A)in/@ C) of / the
B) on/ the D)on/@
4. The article was initially published in Sunday Times, and it is not only about the
architect, but also about the process of his constructing Westminster Bridge.
ADID C) @ /the
B) the/ @ D) the / the
5. T have time to spare with so appointments. I’ve been working very
lately.
A) a little / many / hardly C) little / few / hard
B) little / many / hard D) a little / much / hardly




6. that story before, Sarah realized she

A) Having heard / was being lied to

C) Having heard / was being lyed to

B) Having been heard / was being lied

D) Hearing / was lyed to

7. News

coming in of a large fire in central London, but no one

yet.

A) is/understands why fire brigades have
not responded

C) are / understands why have fire
brigades not responded

B) is / does not understand why fire
brigades have not responded

D) are / does not understand why have fire
brigades not responded

8. I need you to
as soon as possible!

the nursery

before the baby arrives. Just phone that painter

A) have had / fresh painted

C) have / freshly painted

B) having been had / freshly painted

D) having / fresh painted

9. The biggest airport in London is:

A) JFK airport

C) Dundee airport

B) Charles de Gaulle airport

D) Heathrow airport

10. The second in line of succession to the British throne is:

A) Prince George of Cambridge

C) Prince William, Duke of Cambridge

B) Prince Harry, Duke of Sussex

D) Charles, Prince of Wales

THE TEST IS CONTINUED ON PAGE 6




PART B — FILL-IN TASKS

I Adapt the form of the words in brackets to the context so that you get a grammatical
and meaningful text. In some examples negative prefixes are required. Plural forms
are also possible. All the words in brackets have to be adapted to a new form and
correctly spelt. You should not use any —ing form. The first one is done for you.

10 x 1 point = 10 points

Other than being (0) immortalized (MORTAL) in the word ‘mesmerise’, if Franz Anton Mesmer
is remembered at all today it is as a quack, a fraud and a showman. But Mesmer, German by birth,

regarded himself asan (1) (LIGHT) man at the frontline of science.

As a young physician at Vienna University, yet highly (2)

(IMPRESS), he became fascinated by the medical implications of Newton’s (3)
(DISCOVER) of gravity and set out to find whether human bodies

were in harmony with celestial bodies. Experimenting by passing magnets over and around his
patients’  bodies, Mesmer reported his subjects having many strong (4)
(SENSE) of energy rippling across them, and afterwards felt (5)
(VIGOR). He concluded that he had discovered a form of
magnetism — an undetectable force emitted by all living bodies upon one another through the

medium of an (6) (VISION) fluid that flowed from the stars.
Whether his methods could have been (7) (HARM) is hard to tell,
but there are no reports of any deaths. Since Mesmer would not allow for any investigations of his
method, his (8) (negative, FAME) today, the reputation of a
charlatan, seems (9) (JUST). However, it is stories like this that
give us (10) (VALUE) insight into how naive people can be when

it comes to alternative medicine.



I Fill in the blanks with appropriate verb forms (finite, non-finite, modalized,
perfective, progressive, active or passive) of the verbs in brackets, so that you get
grammatically correct and meaningful sentences which are appropriate for the given
context. Also pay attention to word order and spelling. It is NOT acceptable to add
any other word (pronouns, nouns, etc.). The first one (0) is done for you.

15 x 1 point = 15 points

Freedom of the media (0) is (be) a key mechanism of a

functioning, healthy democracy. While the principle of the freedom of press (1)

(lay down) by the First Amendment of the United States

Constitution as far back as 1787, it was in the second part of the 19" century that modern media
as we know them today developed. The growing public awareness of the social changes, such as

urban development and industrialization, that (2) (take) place

intensively  for several decades up to the end of the 19" century, (3)

(now, believe) (4) (emerge)

from the tremendous growth in popular journalism in the same time period. All such developments

must (5) (be) significant factors in the transformation of society

from one (6) (characterize) by relatively isolated self-contained

communities into an urban, industrial nation. In 1871, it was estimated that by the end of the decade

the number of newspapers (7) (double). By 1880, the New York
Graphic (8) (publish) the first photographic reproduction in a
newspaper, (9) (foretell) a dramatic rise in newspaper readership.
If there (10) (negative, be) a major increase in demand, the price
of daily newspapers (11) (modal, negative, drop) from four

cents a copy to one cent at that time. Ever since then, free and independent media (12)

(remain) a key tool in (13) (shed)
light on various frequently (14) (occur) social injustices, which
(15) (modal, otherwise, go) unnoticed if it hadn’t been

precisely for such media.

THE TEST IS CONTINUED ON PAGE 8




Il Make questions so that the underlined bolded words or word groups constitute the
answer. Make sure your questions include all the information from the sentence. Do not add
new information or change the tense.

5 x 1 point = 5 points

Example: That’s Peter.

Who isthat ?

1. Mass transportation revised the American city in many ways.

?
2. The external surfaces of plants often carry spiky hairs.

?
3. Archaeology represents a tool for studying Egyptian culture.

?
4. For a century and a half the piano has been one of the most popular solo instruments.

?
5. Orchids must be unique in having the most highly developed blossoms.

?

THIS IS THE END OF THE TEST.



